
BT-3511-R



#7 #8 #9 #10 #11 #12

#1 #2 #3 #4 #5 #6

#13 #14 #15 #16 #17

Washer - 8mm
31 Pcs

30 Pcs7 Pcs4 Pcs 24 Pcs

Washer - 6mm Screw - 4x18mm Flat Screw - 4x12mm Flat Screw - 4x20mm Flat Screw - 4x45mm

Leg Leveler Pocket - Corner Pocket - Middle Billiard Ball - 2.25”

Brush Cues - 57” Allen Key Wrench

Triangle - 2.25” Chalk

30 Pcs

1 Pc2 Pcs1 Pcs1 Pcs 2 Pcs 1 Pc

1 Pc2 Pcs2 Pcs2 Pcs 2 Pcs 2 Pcs
PlayingfieldEnd ApronEnd RailSide Rail Side Apron Side Beam

Leg Side Apron -TopLeg End Apron - BottomMiddle BeamEnd Beam Leg End Apron - Top Leg Side Apron - Bottom

Allen Bolt - 6x12mmAllen Bolt - 8x25mmMetal Triangle ConnectorLeg Allen Bolt - 8x45mm Bolt - 6x40mm

#18

4 Pcs 4 Pcs

#19 #20 #21 #22 #23

36 Pcs12 Pcs8 Pcs

#27#26#25 #28 #29

1 Set2 Pcs 1 Pc

#29

2 Pcs

1 Pc 2 Pcs

#32#31#30 #33

1 Pc1 Pc

 24 Pcs 4 Pcs

12 Pcs

#24



23
5

23

7

7

6

6

8

24



18

2 1

2

2
1

1

20



15

21

25

25

19

13

13

13

13

18

14

14

14
3

3
4

20

17
20



15

9

9

19

10
9

9

19
16

1619



STEP:10

16

11

12
19

15

22

19
11

12

9

26

26

26

26
27




